980736

L —

HSP 300 3trg ASK

&

)L

——————

25T
e

980736

24.06.24 / 15.08.24[08 24 1/30




980736

24.06.24 / 15.08.24

08 241 2/30




K2 Q45
x| | @7 |ux \ Lx 1x
C 117 002 "\Jé iz?o/'\ T3
"R lex || @ |5x 32x | B [30x Bx Lix
111 xxx @12 112 055 12 616
F3 35x 15 mm G1 L8 3sxs0on (325
957mm
il [ex | e Juax 2x 24x 16X 12x
121370 112 420 111607 121374 621
F D ‘ 3x 13 mm
7 | gx 2 |ux lix 16x Bx
353018 #8x30 63 007 M xxx @5 15 % Mb
MS 14
SW-LP SW-AMD SW-M4x8 8x
% = 2X e S 1X O= 2)( 2100 Mhxth
L=2920/7151:1769 = 7 —
SW-FP[ SW-M6x20 SW-SKM SW-M4 —
% Tx =m | 2x 3% ® | 2x o =
L=2920/1150+1768 —
SW-AS ML x 13 mm GH13 - %
= | 2X = | 6x Tx =
SW-SKL T GL3 S (51 m 30 mm é
[Qj; 1X W 6X @EW 1[")( @ 4O mm ij
SW-SKR Gy N .
1x 2X > | 2X =
- 121 37> \g 60 mm %7
SW-F1 SP13 —
o L X 13mm —
H bX 2X @ 30X 0nn E=—
je 121122 m\\ é
SW-F2 63%105mn T2 77 - ;
@ L x 1x 38x =
111,030 x 90 mm ———
SW-F3 S H5 =
& 2X 1x Bx | letm ——
114 183 °
2X ZWZme
2 X WO‘)Bmm 2 X 3 X
2 X @ 506mm

980736

24.06.24 / 15.08.24

08 24/3/30




3X

2160x577x15 2160x560x 15

2160x577x15

21Mx9773%2,5

3x(13)

2x(12)

3><<iD

964x560x15

LxQ6)

964 x540x22 250x500x18
] [ 4x@9 !
1009554 015 L50/675/450x126x12 661x449x2,5

% @

964x500x18 964 x560%47
- L o@
7 X Lx ’ =
@3 @9 717%227x15

e

2x 990x392x15

2% 990x508x15

5x 990x708x15

/

660x16x15

72x 268x516x15

L M

R

980736

24.06.24 / 15.08.24

08 24 4./30




980736

24.06.24 / 15.08.24

08 24/5/30




6,3 x 10,5 mm Tz

]

111030

980736

24.06.24 / 15.08.24

08 24] 6/30




980736

24.06.24 / 15.08.24

08 24]7/30




980736

24.06.24 / 15.08.24 08 24 8/30




111030

SW-F1

980736

24.06.24 / 15.08.24

08 24/8/30




980736

24.06.24 / 15.08.24| 08 24410/30




111030

980736

24.06.24 / 15.08.24

08 24 11/30




3,5x 15 mm

G1

— F3

112 055

3,5 x 15 mm G/l

980736

24.06.24 / 15.08.24

08 2412/30




SW-SKL

L

SW-SKR

Bl

6,3 x 10,5 mm 1‘1

112 055

35x 15 mm Gzl

121370

980736

24.06.24 / 15.08.24] 08 2413/30)




111 611

6,3x 10,

7 4
% %
I %
% 2
G

112 055

. . .Q eee Teees . . .o e

:gj§§~ S7.

980736

24.06.24 / 15.08.24

08 24]14/30




A

L2

13

112 420

~

A

G1

980736

24.06.24 / 15.08.24] 08 24{15/30




23

25

=
Q45T
L450

Q45
s
Rék@

N

~

12 220/1

5
M6 x 10 T3

11607

980736

24.06.24 / 15.08.24

08 24]16/30




21

28

Tx Tx
_F5.
L8 — L8~
_F5.
. L8— —L8—
T -27R
N/ N
VA
§{§{i80° 2{55180° 2§§§§§§§§§
L450| - QL5 - Qk5> - IR4BE
- QLS5 - - Q45 .

980736

24.06.24 / 15.08.24

08 24]17/30




29

30

980736

24.06.24 / 15.08.24

08 24]18/30




ML x 10 mm 643

1271 xxx

121 xxx

SP13
L X 13mm

35 x 35 mm 614
N\ 2

121375 L=2920/1151+1769

VLP

980736

24.06.24 / 15.08.24

08 24}19/30




- - SW-M6x20
33[+ <:> SW-AS Q:EM/ ST e
\% — | >
/ i f SW-P §> ¥
‘? 2 J‘K 02 V2 L, ) 7 e v %
\\ /1

980736

24.06.24 / 15.08.24

08 2420/3(




SW-=FP|[3.5x 15 mm G1

= ey

L=2920/1151+1769R|121 370

=T

—_—

SW-FP 1769

L =
. T k«, e

S LU G
980736 | 24.06.24 / 15.08.24] 08 2:01/30




@
!

SBV

E)

&-C=

[R~D \!a

[
]R'rleJ

SBV

ca 35

T

L | _SBV-

=SS

39

V12

L)

980736

24.06.24 / 15.08.24

08 24122/30|




980736

24.06.24 / 15.08.24 08 24{23/30|




980736

24.06.24 / 15.08.24

08 2424730




980736

24.06.24 / 15.08.24

08 2405/30




24.06.24 / 15.08.24|08 24P6/30

980736




L3

\

980736

24.06.24 / 15.08.24

08 24027/30




L9

@ 8mm

SP15 i 010

L X 15mm I

21120 11 052

980736

24.06.24 / 15.08.24 08 2428/30




50

Auguiaag /a44nyualiewsbiosn ziLeY /L0 YIB44SOd /OY0) 3 HQWD S)3puey 4iodx3 yiodw| Juepaguyom X IWIM
Aq apeuw
uswwouJaqn bunjjey 19)Jaulay UapeYISYIES J3PO /puUn
-UdUOSJad 13q pJim abejuoly JBYISIUUBWYIRY JUIIU JBPO /pUn JabIgews 141JUISIOA JUDIU 13g
i JOA SUN JIM UD41BYSG'PUIS 43P|NYISD J41uyds4d04 uaydsiuyda} wap alp usbunispuy

24.06.24 / 15.08.24| 08 24029/30

(X¥) C1 9> LE 12D

Z
1 —

4

980736

(=]

i

9

312PON/13POW/N@POl




23203 301y -

3377 MINDEN

QOCKEI

Pakef 4

KS-64

WIMEX Wohnbedarf

port Export Handelsges mbH & Co. KG

Werher-von-Siemens-5tr. 35
»Georgsmarienhitte - Germany

SAMPLE 23.08.19
Modellname Produktionsdat
Model Date of manufacture

um

980736

24.06.24 / 15.08.24

08 2430/30




